Y o7 a2/ RAILWAY RECRUITMENT BOARDS
H € U ot/2008 - w & O - CEN01/2019- NTRC

[Participant ID

Participant Name

Test Center Name |Regent Education and Research Foundation
Test Date 27/03/2021

Test Time 3:00 PM - 4:30 PM

Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

O giEem ST ¥ 1943 F F HfOFA & F @ AR @ = 9

Ans X grer 3t T AT
X2 FI I AN

X 3 JT FaaT JT FEe
VER

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891111721
94891146881
94891146882
94891146883
94891146884
Answered

1




Q.2

frog &7 W 937 JH7F T FEEUS HiT TT 87

Ans X 1. HERT ASEYA (Sahara desert)
' 2 WX 87 AT (Salar de Uyuni)
X 3. J91T ATTYS (Negev desert)
X 4 AT ATEYS (Thar desert)
Question ID : 94891111722
Option 1 1D : 94891146885
Option 2 ID : 94891146886
Option 3 1D : 94891146888
Option 4 1D : 94891146887
Status : Not Answered
Chosen Option : —
Q.3 Rl F IH THEAT F S Y, WS MRl F 69 F mEy # R qv a9 o oW weEcad e @
Zafar amm 1
Ans

K1 TR, T, AT
X 2 BT, A, el

X 5 J0a, MET, TS
v o P, e, =D

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891111997
94891147985
94891147988
94891147986
94891147987
Answered

2

Q4 zz o ¥ o 9ot W wEEr W AT, S 4, 5, 9 3k 12 ¥ i ey @

Ans

« 1. 2500
< 2400
v'3.900
< 4 3600

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891111851
94891147401
94891147404
94891147403
94891147402
Answered

3




T 9RE ¥ TS I ST FiT 9

Ans

& B STy
X 2 ana gfeesw
v 5 qiE AEeaed
<4 s Bt

Question ID : 94891111720
Option 11D : 94891146878
Option 2 ID : 94891146880
Option 3 ID : 94891146879
Option 4 ID : 94891146877
Status : Answered
Chosen Option: 3
Q.6 :
qTAS H 1857 & famig 1 Aqes fFaa fomam am?
Ans e .
1.
K. 3T g
A2 grear a
v 3 §9H FeRd HgA
X 4 FT FgrEET
Question ID : 94891111717
Option 11D : 94891146868
Option 2 ID : 94891146867
Option 3 ID : 94891146865
Option 4 ID : 94891146866
Status : Answered
Chosen Option : 3
Q7 v =ofa o I 12 h F g X THaT §| 9F T@ T F UEST T ST 18 km/h # W @ 3T
FET T AT 30 kmvh WS F TT HAT ¢ IHF GF o @ % FA gl km F A A
Ans 1300
v 2 270
< 3180
< 4 210
Question ID : 94891111862
Option 1 1D : 94891147445
Option 2 ID : 94891147446
Option 3 ID : 94891147447
Option 4 1D : 94891147448
Status : Answered
Chosen Option : 2




Q8 wx e ¥ Tigea &1 = ¢ cm ¥, FATF TOF AT F = 4 om ¥ PR F RgeE @R

Ans

sage ¥ S % @9 & gh W= S

<12 em
<24 cm
v 3 cm
<45 cm

Question ID
Option 1 ID
Option 2 ID

Status

194891111873
1 94891147489
1 94891147491
Option 31D :
Option 41D :

94891147490
94891147492

: Not Answered
Chosen Option :

Q9 e & AUER B ARAT WU & FE og & wnfEer G 32

M@ e 21
X 2 HI=T 34
X s 3T=E 20
X 4 3@?&}3 32

Question ID : 94891111728
Option 11D : 94891146910
Option 2 ID : 94891146912
Option 3 1D : 94891146909
Option 4 1D : 94891146911
Status : Answered
Chosen Option: 3
Q.10 o=fr 2021 # & T A= 3R (Ngozi Okonjo Iweala) T Sseg@rat (WTO) #r e
afer @ fges fer o
e X gfEoT shre
X 2 grar
v o FrEshiET
X 4 hear
Question ID : 94891111705
Option 1 ID : 94891146819
Option 2 ID : 94891146818
Option 3 ID : 94891146817
Option 4 1D : 94891146820
Status : Not Answered

Chosen Option :




Q.11 UF BT H F 42 T W AT WEAT, W FEIT F 70% F T N ¥ $H WE; F 2 T a0 g

T rmes aueT gem?

Ans 1100
X2 84
V'3 56
< 4140
Question ID : 94891111857
Option 1 ID : 94891147428
Option 2 ID : 94891147427
Option 3 ID : 94891147426
Option 4 ID : 94891147425
Status : Answered
Chosen Option : 3
Q12 =t 3 fFm Sfagpiedr o SagEiedr (I Feorwe) AU F AR TEFR (2019) Shar?
Ans -
X 1. Sefags TTEEr (Bohemian Rhapsody)
K 2 A g (Green Book)
v 3 dI¥E. U 36 TH (Period. End of Sentence)
X 4 g737 (Bao)
Question ID : 94891111706
Option 11D : 94891146821
Option 2 ID : 94891146823
Option 3 ID : 94891146822
Option 4 1D : 94891146824
Status : Answered
Chosen Option : 3
Q13 114 sm=dfa =T F ehvw Brae aed/est & weT R & w9 F R B 9w ig weee
9er T S & wEae fear a2
Ans « 1. 60
<2 59
< 3 58
< 4 61
Question ID : 94891111741
Option 1 ID : 94891146963
Option 2 ID : 94891146962
Option 31D : 94891146961
Option 4 1D : 94891146964
Status : Not Answered

Chosen Option : —




Q14 RIRE & O T BFeT & BT F 3R w7 F cFaityg fFar 7w 32

Ans x1 6 5 9 2 3
'8 11 % B
.3 & 9 K a
W2l S B S
B & 116 7
D' &8 & 23
y NP e i
5 Sl R
2 6 9 3 5
4T e Seo S
il il g

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status

Chosen Option :

94891111849
94891147395
94891147394
94891147393
94891147396

: Answered

2

Q.15 =z o & o G A FifEw, =W 18, 30, 40 F7 45 § RASE F W gede A & 7 a9

T B

Ans  of 1. 367
X 2 353
#< 3 360
< 4 361

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

94891111850
94891147399
94891147397
94891147398
94891147400
Answered

1

Q.16 25 AfgamT ww FE F 60 T H W AW TR §1 FH YE @ F o e @, 5 v Aot
3 W N Wge, @ifF T @ 55 e & q@ gr |

Ars X120
V2 30
<3 25
x4 27

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

94891111863
94891147449
94891147451
94891147450
94891147452
Not Answered




Q.17 sRF # g v 9= &, S gaEsr (UNESCO) e Rwraa =& off &1

Ans

X 1. Ao FT @WET (Gulf of Mannar)
X 2

JEHE ST &9 (Pachmarhi Biosphere Reserve)

X 3 ArdE TeerT e (Nokrek National Park)

v & g&Xas (Sundarbans)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status
Chosen Option

94891111724
94891146893
94891146896
94891146894
94891146895
: Answered

12

Q.18 2019 &, DRDO (&7 U TS ReFTE WoTad) o AT 7F-1 TH (AKASH Mk-15) 1 Thel SHreror

TRIT ATl T ARR-1 TH (AKASH Mk-1S5) B 9o 7 faamsa 27

Ans 5
A1 ST ¥ @8 W AR A Srelr
¢ LY
v Oag ¥ g1 # AR FI 9T
X 3 g ¥ g W AN F{ Jreir
X4 Odg ¥ o & AT AR Fla Jralr
Question ID : 94891111731
Option 1 ID : 94891146922
Option 2 1D : 94891146921
Option 3 ID : 94891146923
Option 4 1D : 94891146924
Status : Answered
Chosen Option : 2
Q19 réi:\'l?lzoi-’-l'{ e FEearFH (Nuclear Fuel Complex) T g g
Ans *
1.
X1 HqEg
< 2 gFT
< 3. FodFHhH
v geTeTe
Question ID : 94891111730
Option 1 ID : 94891146917
Option 2 ID : 94891146920
Option 3 ID : 94891146919
Option 4 ID : 94891146918
Status : Answered
Chosen Option : 4




Q20 Trmfafag & @ i @1 e 9% (OPEC) (Seifews fas &aif & eed) # 9eeT &7

Ans X1 IR
X 2 g
X 3 F T
V' FET AEaYE IR
Question ID : 94891111735
Option 1 ID : 94891146940
Option 2 ID : 94891146938
Option 3 ID : 94891146937
Option 4 ID : 94891146939
Status : Answered
Chosen Option : 4
Q.21 312,400 #r vF =TT vE TARET TUROT SO 7 &7 W 3 9§ F FoaT 714,632 @ AT ¥ A
TS FT & AT Hi=v]
Ans x 1. 5%
<2 4%
v 3 6%
<4 3%
Question ID : 94891111855
Option 1 ID : 94891147419
Option 2 ID : 94891147418
Option 3 ID : 94891147420
Option 4 1D : 94891147417
Status : Answered
Chosen Option : 3




Q22 = e T Frt iy forst @ eSS ) e F & AE SRS F AT A T
TR F, 9o & I T A asat § B 9o g &, sl 9o & R aw st

AT FT T aOfFs 7 F Fu=t F 9o w1 27

L CH

1. wefr et & ara TEHe A ¥
2. 3w v dfAF g

e

. Y & 9rH TFH 8

Il A & o sew A F O Tswe e $
e X e | 3 1 @ e e B
v 2 Fae AeEHY | ITeT HaT B
XKoo ar ey | st 7 & 1| g T g
X 4 Faer ey || 9o FaT B

Question ID : 94891111977

Option 1 ID : 94891147907

Option 2 ID : 94891147905

Option 3 ID : 94891147908

Option 4 1D : 94891147906

Status : Answered
Chosen Option : 2
Q23 zfy '+ & 7 wemr, ‘X’ F AT R, <+ F AT AT I - F= IS T L A
=T e = 719 79 T
208 x 8 -7 + 38 + 28

Ans X1 114
<2118
<3120
4172

Question ID : 94891111986

Option 11D : 94891147941

Option 2 ID : 94891147943

Option 3 ID : 94891147944

Option 4 ID : 94891147942

Status : Answered
Chosen Option : 4




Q.24

Ans

Alan is required for booting a computer.
/< 1. Compiler
+ 2. Operating system

/< 3. Translator
/< 4 Assembler

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

94891111736
94891146944
94891146941
94891146942
94891146943

Not Attempted and
Marked For Review

Q25 poom & vk e F 2 oo WA AT AT F AW T RieeT 1 2 T @ e w7 S e

Ans

Y F=T?
:«w%
3
X2
2
Vg
3
a3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891111847
94891147387
94891147386
94891147385
94891147388
Answered

3




Q.26 zfy vk 3MUAER aFw o FAEE 15mx8om X 6cm §, @ Sew F el T 7T T TAT oI HY

g waE (cm H) 79 Ffew)

Ans ,
v 1 5y13cm
< 2 514 cm
# 3 10y/13 em
/< 4 526 cm
Question ID : 94891111866
Option 1 1D : 94891147463
Option 2 ID : 94891147464
Option 3 ID : 94891147462
Option 4 1D : 94891147461
Status : Answered
Chosen Option : 1
Q.27 HRE H TUH Fer Lo off, T Semes e T 99 guTe ®@e - sfewr el gEwr R awn
am|
Ans X 1 m ﬁﬁ
X 2 EI'-EI"E‘T JEI{;"F
X s gz A
o 4 FrerETar Ael
Question ID : 94891111743
Option 1 ID : 94891146969
Option 2 ID : 94891146971
Option 3 ID : 94891146972
Option 4 ID : 94891146970
Status : Answered
Chosen Option : 4
Q28 gy smer (23/02/2012) & e e &, & 3T § 91 e a1g Fi &1 R g2
Ans X 1. YRER
v 2 TEER
X3 FHA
X 4 HATeET
Question ID : 94891111988
Option 11D : 94891147952
Option 2 ID : 94891147951
Option 3 ID : 94891147949
Option 4 ID : 94891147950
Status - Not Attempted and

Chosen Option :

Marked For Review




Q29 oy gne & oEEr A F AR F AR AR FE 6T GE= w1 F T eEl 2021 F o @

FIT AT 9 T SR T ar?

A X &3t (e-Alert)
X 2 STATE (e-Smart)
v 2 $B19aT (e-Chhawani)

X 4 S-aTT (e-Jawan)

Question ID : 94891111704

Option 1 1D : 94891146816

Option 2 ID : 94891146813

Option 3 1D : 94891146815

Option 4 1D : 94891146814

Status : Answered
Chosen Option: 3
.30 ¢
% gieit F FTTH T T FRT E?
A . o
Y OX TE I @ WY F Rl e aw agen B
<2
7 Mt w9 F Rfeew ot g o 7
Vo TZ AR w9 F Rfew sl @ ageer B
X 4
Ig Fe SEHFEES aﬁqﬁﬁ#ﬁﬁﬁrmﬁ'aﬁq@m” gl

Question ID : 94891111712

Option 1 ID : 94891146845

Option 2 ID : 94891146848

Option 3 ID : 94891146846

Option 4 1D : 94891146847

Status : Answered

Chosen Option :

1




Q31 gz st & Se - B Te SR wew ¥ R B F g

Ans K. arroTEY
X 2 FAR
v 5 IRER
X 4 SolgTElE
Question ID : 94891111719
Option 1 1D : 94891146873
Option 2 ID : 94891146875
Option 3 ID : 94891146876
Option 4 1D : 94891146874
Status : Answered
Chosen Option : 3
Q.32 v fuger 7 st @ e 2022 ¥ s swe 9fE 110 om ¥ TR O s # Fers e
FriET)
Ans X133 cm
<2 495 cm
/<3 30 cm
v 4 275 cm
Question ID : 94891111856
Option 1 ID : 94891147422
Option 2 ID : 94891147421
Option 3 ID : 94891147423
Option 4 ID : 94891147424
Status : Answered
Chosen Option : 4
Q.33 : = :
1921 # w=faw gfeaw & = @ forwar AT gamar or?
Ans x
. e aafEe
X 2 FMHIT BE
X 3 9T AT sfEar
v o s 9T
Question ID : 94891111708
Option 1 ID : 94891146829
Option 2 ID : 94891146831
Option 3 ID : 94891146832
Option 4 1D : 94891146830
Status : Answered
Chosen Option: 3




Q.34 a2 b3 b3
o a+pry=0 %, F’TEJH%Jr:_B F AT AT AT

Ans X 1.2
X2 4
<3 1
Vi3
Question D : 94891111867
Option 11D : 94891147466
Option 2 ID : 94891147468
Option 3 ID : 94891147465
Option 4 ID : 94891147467
Status : Answered
Chosen Option : 2
Q.35 sier-mAae (fault plane) & @M TEET & GART F FROT 3T @I TTel ST H FAT FgT AT §7
Ans . :
N AR CCLICED 579 (Tectonic Earthquakes)
2 2. TEarar 577 (Collapse Earthquakes)
X 3 TaFwiea oFT (Explosion Earthquakes)
X 4 FTeTHET H{9 (Volcanic Earthquakes)
e ] (2.
Question ID : 94891111726
Option 11D : 94891146901
Option 2 ID : 94891146902
Option 3 ID : 94891146903
Option 4 ID : 94891146904
S . Not Attempted and
tatus :

Chosen Option :

Marked For Review

W It fr oy & e @ @ Reae @ o

Ans

A ]
v SR
X5 e
X+ el

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

94891111715
94891146860
94891146857
94891146859
94891146858
Answered

Chosen Option : 2




Q.37 Tx = ffr e § S @ 99 B e @ @99 ¥ ik o amee & s A w1 T e

Ans XL iy, AR T
X 2w, & EEEitE

X3 ag dmr [
v 4 Sterdy & we
Question ID : 94891111995
Option 11D : 94891147978
Option 2 ID : 94891147979
Option 3 ID : 94891147980
Option 4 ID : 94891147977
Status : Answered
Chosen Option : 4
Q.38 sEfr afinar @ FTe & HTEET AT U ST i AR = F R 9w e F s e
v Hafea @l 7 7 g = 27
Ans .
X 1. & AfET (Narrow margin)
v 2 e AfST (Gutter margin)
X 3. greE AT (Wide margin)
X+ g afaa (Mirrored margin)
Question ID : 94891111737
Option 1 ID : 94891146946
Option 2 ID : 94891146948
Option 3 ID : 94891146947
Option 4 1D : 94891146945
Status : Not Answered
Chosen Option : —
Q.39 o fasgsr #r 2 senat & AT FAW 10 cm IR 8 cm FI T F ATET 16V60m® ¥ Y =T Hr
wEE AT HfeT, FE A9 £ F I8 v 9 ET = R
Ans o114 cm
<212 cm
/<310 cm
< 416 cm
Question ID : 94891111872
Option 1 ID : 94891147486
Option 2 ID : 94891147487
Option 3 ID : 94891147488
Option 4 1D : 94891147485
Status : Answered

Chosen Option :

1




MW afrx=2+VZ E A x3-4x+ 4 FAF AT DT

Ans x 1. 4
<21
<30
v 2
Question ID : 94891111848
Option 1 ID : 94891147392
Option 2 ID : 94891147390
Option 3 ID : 94891147389
Option 4 1D : 94891147391
Status : Answered
Chosen Option : 4
Q.41 37 T4eheq &7 T4 Hifaw, FY T 91T reg & 3EW & S9@T S el &, 9T, HEW
sﬁmﬂﬁvmalﬁﬁymsﬁmﬂﬁaﬁmmaﬁmml
Mainstreaming
Ans X 1. Maintaining
< 2. Streamed
« 3 Training
< 2 Tempting
Question ID : 94891111985
Option 1 1D : 94891147937
Option 2 ID : 94891147938
Option 3 ID : 94891147939
Option 4 ID : 94891147940
Status : Answered
Chosen Option : 3
Q42 fyom & @R g T ‘AR F (Shahtoosh wool) T3 ¥ frad wrea Hr = 372
s X e
X2 g=
/< 3. STAT (Llama)
v + fdesdr JqET (Tibetan Antelope)
Question ID : 94891111725
Option 1 ID : 94891146897
Option 2 ID : 94891146898
Option 3 ID : 94891146899
Option 4 ID : 94891146900
Status - Not Attempted and

Chosen Option :

Marked For Review




o 9T (propane) T TERATSE g FT 8?
Ans o1 C3H,

< 2 CsHyp

< 3 CHg

X 4 CH,

Question ID

Option 2 ID

Option 4 ID

1 94891111713
Option 11D :
: 94891146852
Option 31D :
: 94891146850

Status :
Chosen Option :

94891146851

94891146849

Answered
1

4 22,000 ¥ ¥ e Fr BAT =T 2
Ans X185 mm X 165 mm

v 2 66 mm X 166 mm

<366 mm X 146 mm

< 4 80 mm x 180 mm

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

Status:

Chosen Option :

194891111739
Option 11D :
: 94891146953
: 94891146954
: 94891146955

Not Attempted and
Marked For Review

94891146956

Q45 oz =T E L M N, D #R O v o9 & @ & 3R 7@ =F 33 § (=0 a8 5 s w7 F @l
MOFeEsindmlam R ot M Bt wadids di o3t L & &9 & a0 I

afag &% &
afy N, M 1 9sid &, & O & wsier #iq &2

e Kbk L
v2D3RE
X3 E 3R N
X< 4D 3R N

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

94891112001
94891148004
94891148001
94891148002
94891148003
Answered

2




Q46 =erqfy sarer #r fhae wioed =% & ©X 210,000 &1 ow i 2 o€ # gt 311,025 & Swi?

ans K1 4.5%
<2 6%
V'3 5%
<4 4%
Question ID : 94891111858
Option 1 ID : 94891147432
Option 2 ID : 94891147429
Option 3 ID : 94891147430
Option 4 ID : 94891147431
Status : Answered
Chosen Option : 3
Q47 sz x s+ Far N FH IFTTU NIRRT BT ATE A DRRI T ET @
Ans X196 x 3 = B9 = 2207
X269 x9+ 46 =736
<396 x3+25=0576
v 89 x 12 + 96 = 552
Question ID : 94891111975
Option 1 ID : 94891147898
Option 2 ID : 94891147900
Option 3 ID : 94891147899
Option 4 ID : 94891147897
Status : Answered
Chosen Option : 2
Q.48 & Bt v sy w1 AT 22 §) AR A B F g oA 24 @ & S B f g A A
Ans K122
v'2 30
X3 24
< 4 31
Question ID : 94891111871
Option 1 1D : 94891147481
Option 2 ID : 94891147483
Option 3 1D : 94891147482
Option 4 1D : 94891147484
Status : Answered
Chosen Option : 2




Q49 s a1, v AR T T oF W T gEY ¥ HEE-IES B2 A A o] @ 31 I ude &

Ans

o 90T 79 # T & eiR WX 93 @ o, & wiote # g BRE faar # v am
v ofgaE
< 2 ZfoT

Xa g
X 4 FeadX

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:
Chosen Option :

94891111999
94891147994
94891147996
94891147993
94891147995
Not Answered

U0 o7 womr T I T A F BC e werd # smEvwar g 37

Ans

v 1 25
X 2 50
X 3125
X 4100

Question ID :

Option 11D :
Option 2D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891111729
94891146915
94891146916
94891146914
94891146913
Answered

1

Q51 37z Jaroit 6, 7, 10, 12, 13, 4, 8, 12 & AET FFeT (mean deviation) AT H=TI

Ans

X125
X2 2
vz 275
X 4 2.25

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

Status :

94891111869
94891147474
94891147476
94891147473
94891147475
Not Answered

Chosen Option : —




? o ¥ FiF @ Zu TF (SAARC) FT TEET T &7
Ans X1m

v g

X o oEa

X4 T

Question ID : 94891111733
Option 1 1D : 94891146930
Option 2 ID : 94891146932
Option 3 1D : 94891146931
Option 4 ID : 94891146929
Status : Answered
Chosen Option : 2

Q.53 vs AR FEE = &EF 168m? MR TRET 62 m ¥ =EF BT & T w7 S
Ans - X 1.20 m

<224 m

<323 m

V425 m

Question ID : 94891111865
Option 11D : 94891147457
Option 2 ID : 94891147459
Option 3 ID : 94891147458
Option 4 1D : 94891147460
Status : Not Answered
Chosen Option : —

@54 WgFA T (United Nations)’ #TH & a1er 711 or?

A o1 sEadr 1942
X2 1 F=alr 1945
X3 1 Sl 1947
241 SFadr 1943

Question ID : 94891111734
Option 1 ID : 94891146936
Option 2 ID : 94891146933
Option 3 ID : 94891146934
Option 4 ID : 94891146935

Not Attempted and
Marked For Review

Chosen Option : —

Status :




Q55 3y 3w M@ & 9ua &, o R @t F 9 F deu & g&fan @ @ e

HT Az, UqF, oA

() O

< 2

OO
O

J 4.
Question ID : 94891111996
Option 11D : 94891147984
Option 2 ID : 94891147982
Option 3 ID : 94891147983
Option 4 1D : 94891147981
Status : Answered
Chosen Option : 4
Q.56
T T g & g FiET:
554 [29—-{25—-(6—-24+-6x8)}]="?
Ans ( 133
< 2 59
<3 41
< 4 63
Question ID : 94891111845
Option 11D : 94891147378
Option 2 ID : 94891147380
Option 3 ID : 94891147377
Option 4 1D : 94891147379
Status : Answered

Chosen Option :

1




Q.57

Ans

'3IEY (Ugadi)’ 3089 9RT & &8 T3 § Hamar S1ar 22

K. 3HEH
X 2 ghmmom
V'3 3T 9awr
X 4 Fiar

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option

94891111709
94891146834
94891146835
94891146833
94891146836

Not Attempted and
Marked For Review

58 oISt (Glucose) # & & fhaar 307 &1a 272

Ans 1. HTS
v B8
X3 cH
A4 ar
Question ID : 94891111714
Option 11D : 94891146855
Option 2 ID : 94891146853
Option 3 1D : 94891146856
Option 4 1D : 94891146854
Status : Answered
Chosen Option : 2
% Crafaree wr
g HIfT:
1 1
g x-- =3, A x* -= =2
X X
as K19
<218
v 36
X4 27
Question ID : 94891111868
Option 11D : 94891147471
Option 2 ID : 94891147470
Option 3 ID : 94891147472
Option 4 1D : 94891147469
Status : Answered

Chosen Option : 2




Q.60 oz mreREry s & MY B 5EF UR W G T FF 12 em ¥ AR s R 36 om §1 P

Ans

F ETHS AT PIHATI
#1100 cm?
#< 2 120 cm?
v 3 60 cm?
&< 4 90 cm?

Question ID :
1 94891147454
1 94891147453
Option 31D :
Option 41D :
Status :
Chosen Option :

Option 1 ID
Option 2 ID

94891111864

94891147455
94891147456
Not Answered

Q.61 UF gHEEN A UF gafegE st 35% H e W A IR 3E @ 21725 A0 qpw W A= Fm,

Ans

dr 38 8% I @1 ganl 13% F A AW & Tw, 30 30 FE g W a=er fke?
v 1 31,695
< 2 31,595
X 3 71,550
X 4 31,680

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891111860
94891147438
94891147440
94891147439
94891147437
Answered

1

Q.62 mm,a}aﬁ;ﬂ-ﬁﬁva@m@ﬁﬁmﬁﬁaﬁ#ﬁmﬁﬂﬁmﬂéeﬂ?

Ans

A ST
<2 Ha=
X 3. grefrer

v g

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891111723
94891146892
94891146889
94891146891
94891146890
Answered

4




Q.63 9 T O Ui K #7118 & R Br ST 8, & 99 9 W g 21 K 6 & fawfea e

9T g9 aren 9w AT fifew)

ae K12
X2 4
<31
v 3
Question ID : 94891111846
Option 11D : 94891147382
Option 2 ID : 94891147383
Option 3 ID : 94891147381
Option 4 1D : 94891147384
Status : Answered
Chosen Option : 4
Q64 s e e A F R fRE W amiE st F Rmor @ar 82
Ans X1 SETAT FEAT
X 2 smrare faw
v 5. peuT-AneT
X 4. gETETe ey
Question ID : 94891111710
Option 11D : 94891146840
Option 2 ID : 94891146837
Option 3 ID : 94891146838
Option 4 1D : 94891146839
Status : Not Answered
Chosen Option : —
Q.65 v T ¥ gew F gREY 12% F X F TEEIA A ¥ ST TAAA T £7,74,400 ¥ 2 3§ 7
F F e et oT?
Ans 1. 29,99,999
' 2.210,00,000
7< 3 %11,00,000
/< 4.%9,00,000
Question ID : 94891111859
Option 1 1D : 94891147433
Option 2 ID : 94891147436
Option 3 1D : 94891147434
Option 4 1D : 94891147435
Status : Answered
Chosen Option : 2




Q.66 mrgwETTe 7F 2016 F dEmE GART g F TT Fa @ AMEFN (shorteut keys) FETET ger?

Ans - of 1. Ctrl
&< 2 Ctrl
< 3. Ctrl
< 4 Ctrl

-+

-+
-+
-+

Q

<

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891111738
94891146951
94891146952
94891146949
94891146950
Not Answered

Q.67 fr=fafes & & frw e # 21 F 30 31T 2019 7% 847 vfin® g Afge Feater It v

aete T T ar?

Ans 1 AT

Xz.%ﬁﬁl‘:ﬁ'

X o & R

X 4 TEas

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891111707
94891146825
94891146828
94891146827
94891146826
Not Answered

Q68 smg F TR F W-THT w7 (quasi-federal form) FT TEUTT FaT ¥ T TIET AT?
e K smds

ER-)

<3 B

K4 FTH

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891111727
94891146908
94891146907
94891146905
94891146906
Answered

1




1 frafafeT F ¥ #iF o Resy 9 ¥ g3 @ g ¥7

Ans 1 1 1
x T —f—=—
w f ol
[ Y . |
x 2. — — = —
v u f
X 3 1 ¥ T A |
v f
y 4 L K
e o f
v u f
Question ID : 94891111716
Option 11D : 94891146863
Option 2 ID : 94891146862
Option 3 ID : 94891146864
Option 4 1D : 94891146861
Status : Answered
Chosen Option : 4
.70
Q70 2fr 'a # 12% = b F 25%' & ar a : b T T AT AT
Ans X1.3:5
<212 :25
K35:3
v+ 25:12
Question ID : 94891111854
Option 1 1D : 94891147414
Option 2 ID : 94891147413
Option 3 ID : 94891147416
Option 4 ID : 94891147415
Status : Answered
Chosen Option : 4
Q71 = oz T ow & s ¥ 99 s BRET e § T £, 3N w arEe ¥ sed & =99 &
Ans  of 1 BAT
X 2 ger
X3 ae
X 4 eFg
Question ID : 94891111976
Option 1 1D : 94891147903
Option 2 ID : 94891147902
Option 3 1D : 94891147901
Option 4 1D : 94891147904
Status : Answered

Chosen Option :

1




Q72 33 9z w1 o7 Hfew, S Feaf@a i & waftes (2) & T W 3 FF B

AB, EFG, KLMN, ?, CDEFGH

Ans X 1. OPQR
v 2 STUVW
#< 3 PQRS
< 4 XYZAB
Question ID : 94891111987
Option 1 ID : 94891147945
Option 2 ID : 94891147946
Option 3 ID : 94891147948
Option 4 ID : 94891147947
Status : Answered
Chosen Option : 2
Q.73
IfE 2538 x 542 + 584 = 25% & & x & AT A HiT
Ars X114
Vw227
<32
X412
Question ID : 94891111852
Option 1 ID : 94891147407
Option 2 ID : 94891147408
Option 3 ID : 94891147405
Option 4 ID : 94891147406
Status : Answered
Chosen Option : 2
Q.74 12 m 5 FER F oS & e Rl & @ & 9E Rig F1 sEewe wor 60° ¥ AR T F o
AT F0T 30° | TS % @ Y I A9 Siew)
Ans X 1.9 m
<210 m
<311 m
v4i8m
Question ID : 94891111870
Option 1 ID : 94891147478
Option 2 ID : 94891147479
Option 3 ID : 94891147480
Option 4 1D : 94891147477
Status : Not Answered

Chosen Option : —




Q75 fow =i ¥ Aftas B eofee o & FgfeT & Tgue waT & 3 9w o 32

ANS g Rrer
X 2 HTATH
X o eafay
X“'FITiT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Stalus - Marked For Review

Chosen Option :

94891111711
94891146843
94891146841
94891146844
94891146842
Not Attempted and

Q76 waEl a7 A A W H THAT g, dfd T TR Fg ¥ @ WA RF F w

THAT §| SEHT I e 5@ FH H FheAd Al H W H Gobell 87
ARVARCES -

X2 8-

?(3.?3%?

X 4 Giﬁ?f

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

94891111861
94891147444
94891147443
94891147442
94891147441
Answered

1




Q77 faw av wuat & 9& AR Repedt F @ 3ok v TR sgET TISEEOT 1 TTT H

YA

. RE % 3l HT 7 36 AGESA & S ST I9 g HT qHET

Il forame, aeR & e $r 3 76 # W 8

Ans

X w1l FROT § AT FuT | g9 g
X 2

FuT | 3T Fue || 2= Faufass FRoT F 9T 2

<2 FyF | FROT § AR FuF || 97T &
v i Fmue | AT w1 @ gt =8 §

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

94891111998
94891147990
94891147992
94891147989
94891147991
Answered

4

78 Reedh awam 1911 & alvm, fwel 1 smum-Rier st ¥ frew W o

Ans

v . S 997 (George V)

X 2. gTae 99T (Herbert Baker)

X s arg fafeess (Lord Willingdon)
X 4 &1s T (Lord lrwin)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

Chosen Option :

94891111718
94891146869
94891146870
94891146871
94891146872
Answered

1




Q.7

i o /40 = 6.3245 %,a’r\jg FT AT AT FfET]

Ans X" 1.1.3303
v 2 1.2649
<3 1.4132
< 4 1.2593
Question ID : 94891111844
Option 1 1D : 94891147376
Option 2 ID : 94891147375
Option 3 ID : 94891147374
Option 4 1D : 94891147373
Status : Answered
Chosen Option : 2
Q80 < sreT-3reRT FraTger ST, FAA: T 30 min, 45 min, 1 h AT 12 h F aE @ Fr =y
e §1 T Armsat F 1045 am. T TF FY &9 A T T 0F @y FE AT FE2
Ans X 1. 5.30 p.m.
< 2 3.00 p.m.
<3 245 p.m.
v 4 1.45 p.m.
Question ID : 94891111853
Option 1 1D : 94891147412
Option 2 1D : 94891147411
Option 3 ID : 94891147409
Option 4 ID : 94891147410
Status : Answered
Chosen Option : 4




Q.81

Ans

GEO #r o7 & &7 §?

Ko

fSrenfserer 312 3fSe (Geographical Earth Orbit)

W2

fSaeeeadr 37 3ifSe (Geostationary Earth Orbit)
X 3. fSgEmdr 3797 38T (Geography Earth Orbit)

X
ﬁﬂﬂm TAAE e (Geostructure Element Orbit)
Question ID : 94891111732
Option 11D : 94891146926
Option 2 ID : 94891146928
Option 3 ID : 94891146925
Option 4 ID : 94891146927
Status : Answered
Chosen Option : 2
Q82 g T T UM H 7 +8+0=798 34 +6+8=486¢F a5+ 2+ 4 & A7 AG
HfaT]
Ans 1524
< 2 452
< 3 425
v 4 542
Question ID : 94891111974
Option 11D : 94891147893
Option 2 ID : 94891147896
Option 3 ID : 94891147895
Option 4 ID : 94891147894
Status : Answered
Chosen Option : 4
U8 oot 3 e T TR & frior v @@ ¥ fare fEw 7
Ans X 1. F=EIOH SO
v 2 &g aR
X 3 9RT & TgIra
& 4 fqene g
Question ID : 94891111742
Option 1 1D : 94891146966
Option 2 ID : 94891146967
Option 3 1D : 94891146968
Option 4 1D : 94891146965
Status : Answered
Chosen Option : 2




Q.84 o Feaw & F ¥, T © O S RE @ §99 & 3N Ue ared ¥ HEeS §ST T 9% i

Ars X183
X 2 61
V'3 81
X 4 47
Question ID : 94891111994
Option 1 ID : 94891147975
Option 2 ID : 94891147976
Option 3 ID : 94891147974
Option 4 ID : 94891147973
Status : Answered
Chosen Option : 3
Q85 frgay 2020 % TTo FAFFHT F AR, A (NITI) 3T F 3uTemer H &2
Ans X 1. aifEramr T
X 2 qg A&
v o TST FAR
X 4 3R(IE gaAvTST
Question ID : 94891111740
Option 1 ID : 94891146957
Option 2 ID : 94891146959
Option 3 ID : 94891146958
Option 4 ID : 94891146960
Status : Answered

Chosen Option : 1




Q.86 faar T o =, o FA Ue TAER 99 & Rfied Reat & 3o v gaE-aatat $
SiRRE-ar S FT Sl §1 9 T8 F Heuga F A AeR@a g 7 seaw &

Entertainment

{ t
Advertisemen &%

12%

Sports

8%
International News

5%

I'E 30 A # FA 4800 FARRT Yl # 8 off, @ 397 ¥ Braw B (advertisements) €7

Ans X1 428
v'2 576
<3 612
X 4320

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

94891111989
94891147954
94891147955
94891147956
94891147953
Answered

2

Q.87 faar wram o =, Frow T TF §EER 97 ¥ Rt R F e s gee-asEteat &
Qfg-aT 92 7 S2TET g1 IE I 7 3euaT F1 AR Fe=afa@a ved # 3w &

Entertainment

Adverti t
vertisemen 6%

12%

Sports

8%
International News

5%

Ferfia et (Advertisements) 3T @& (Sports) TARRT &1 3wd 71T i

Ans X'1.2:3
X21:2
vi33:2
K42:1

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

94891111990
94891147958
94891147959
94891147957
94891147960
Answered

3




Q.88 far war ot =E, Rroer 7 T FAER 97 § RfYe Real & 30 switg gaE-aatEt &
gfeRig-an g2 & geiar §1 9% =9 @ ¥eusd w3t Gl vew a7 s &)

Entertainment
6% Sports
8%

Advertisement
12%

International News
5%

I 3Ter 7 AET (advertisements) @1 FEIT SN g ST §, FEf @sf 3w FAER @R
# weur sufEfda @ 2, 3 ®uElT gAER (local news) EHFENT &1 REdn, weElg AAER AAEE
F Tl TEAT & T hde Sfawe F s gem?

Ans Xl 224%
v 2 41%
< 3 52%
<4 37%

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

94891111991
94891147963
94891147961
94891147964
94891147962
Not Answered




Q.89 faw wmr oF =, Row FEA UTF FAEN 9¥ # Rffew e F 3o Se gRER-aeEEr &
Sigerd-an s H 2T 1 9 = @ euna wy H FAEARd 99 # 37 &)

Entertainment
6% Sports
8%

Advertisement
12%

International News
5%

ofg 4 g T 3E # TR FAEN-AREET B Her FEAT 48000 o Ay TR fnel off ™ e W
30 FAER-AARET S YR @ar =1 wwar €, ar 2 gearg! # st (Advertisement) 3T @
(Sports) THRERT & Tl fFaw 55 g9

Ans o 1160
< 2. 240
< 3 320

X 4120

Question ID : 94891111992
Option 11D : 94891147966
Option 2 ID : 94891147967
Option 3 1D : 94891147965
Option 4 1D : 94891147968
Status : Not Answered

Chosen Option : =




Q90 few = et AR forewst 1 eTEEE Hewmd w AR A0 F FiT ¥ Treed aifdE 79 FwE A&

e A 87

FYA

. TT FCATEF HEEF 2
Il. w wEms F
farars:

. g weamE HE E

1. 7sfr &7 Feraw F

Ans
X 1. el TSy || 9Tere T g
v 2 Fad @Ry | gree Far g
KXo oo ARy | 3l & By | g ==ar gl
X o T | 3R 1 =T 9o =T 2
Question ID : 94891111982
Option 1 ID : 94891147926
Option 2 ID : 94891147925
Option 3 ID : 94891147928
Option 4 ID : 94891147927
Status : Answered
Chosen Option : 2
Q91 sw =@ A B, C, D EF, G H T gear a5 § &7 38 § (=0 =& &% s &7 # &)
wHgE S SR GINEF v & 590 v wfFa 457 §1 B, F % 2 aiw 2 mw W
T FCF MmN T R GIRDF g FaF aag 3= g G 3T D, C
IT B F UE T £ A, E & T 3T I T W 8 g
TR FAFTE M TTTIE FARBFIgdaagdar
Ans XT c
X2D
X2 H
vaC
Question ID : 94891112003
Option 1 1D : 94891148012
Option 2 1D : 94891148011
Option 3 ID : 94891148009
Option 4 1D : 94891148010
Status : Answered
Chosen Option : 2




Q.92 Rt siv Rt § T 30 T F1 9o AT, S ST At F g BET (7) F T W oA

TR B
11, 14, 17, 24, 31, 34, 37, 44, ?
ans X148
X2 54
V'3 51
X 4 47
Question ID : 94891111983
Option 1 ID : 94891147932
Option 2 ID : 94891147931
Option 3 ID : 94891147930
Option 4 ID : 94891147929
Status : Answered
Chosen Option: 3
Q93 oF o #, aTe FERET T dEE & #31 § sk sl F, S, T @, o, gY e s ey &
F IFEET-IET TN F FE A g0 §, Wq I 5 FH A @ 48§ Bw wmh @ O 71 F w9
g, 7% A Y ¥ 9= T WA T O 9 @ FE T S8 95 ¢, 9 Ao A et T
FUS T TeT TSR & g F 38 ) 5w w5 F @hg T F F9E A &, 98 9 T ¥
e A FEET & WS HIT gAY T WA § 5w awh 3 her @ & w98 95 € a9 afe Y
T 31 ¥ T wEh F e 7 % F92 g §, 9 a0 B @ gy we W A & ) Bw amh oA
TETE T & T & FIE VRS &, 9% A TT F FI5 g o0 omer & a9e & 48 g1 orw awh @
e I F T F F98 9E 3, 9 o AR AT T F FU 9gAn A= wgfhd & 4= F 44§
ofFa & a7 Ry o #i #Br ¥e
Ans :
A1 Tl TT & FIS IgA ol SR
K 2 IAEr BT &F FI3 TgAA qrell wlgent
V'3 gL T F FIAS IgAS Tl oTmenT
X 4 TP TT & FI3 Tgalel dTell oTsehl
Question ID : 94891112000
Option 1 ID : 94891147999
Option 2 ID : 94891148000
Option 3 ID : 94891147998
Option 4 ID : 94891147997
Status : Answered
Chosen Option: 3




Q94 g wer Br aw §, B ¥ O B o @ g § it o sreg R a1 =me s

K SErE

v o T g
X 3. FETS FEAT
X 4 FATS FLAT

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

1 94891111993
1 94891147972
: 94891147969
Option 31D :
1 94891147971
: Answered

Chosen Option :

94891147970

2

Q95 s s#w A B, C, D, E, F, G 3t H & T - g8 & 9% @ 7147 ¢ (7 7 & ol w0 o an))
BN EF ST A Fa TN W HFEFSF AT @ g1 G 3R C & §9 F Faa
A T G AF T ST G SR W T I B R DI HF TR @ T C

AT FF T & oF ¥ s oaw @ 7T #
F 3t ¢ & &9 F fFae g @ oe 2

as X5
X2 3
s 2
<44
Question ID : 94891112002
Option 1 1D : 94891148008
Option 2 ID : 94891148006
Option 3 ID : 94891148005
Option 4 ID : 94891148007
Status : Answered
Chosen Option : 3
Q96 =7 fymsy # wu #Y, rEw Sl TEar ¥ 3 Tay ¥, S gul g W age g= ¥
1728 ¢ 12 zhl2
Ans K110
<26
Vs 8
<49
Question ID : 94891111979
Option 11D : 94891147916
Option 2 ID : 94891147913
Option 3 ID : 94891147914
Option 4 ID : 94891147915
Status : Answered

Chosen Option: 3




Q.97 mmmmmﬁwaﬁmﬁmﬁlmﬁﬁaﬁmﬁmmﬁgﬁmﬁ,
7 T TF FHEAT: A9 T 8 @e w6 g 2, 3 99 & R e et § ¥ i @ afew

T T FUAT F AT TS 27
e

. T wea, 9E F

Il =t e, &

. wefr 9, e &

oo

. T ==, Be §

Il @t Ype, 9 )

. wefr &=, et &

Iv. @ Yore, seer

A o Faer sy | g wRaT B
X 2 Faer sy |l 3R IV gred Fa 2
X 3. Faer fosay || 9o FaT B
X 4 Faer Asey | 3T 1| gree F=a F

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891111980
94891147917
94891147920
94891147918
94891147919
Answered

1

Q98 Grrafafd FleoT # HT A F faw Bt & Rgal #r amaw # agerET g

36 +6+3-20x5=50

Ans x1'+3-ﬁ'{-
«2-x3ﬁq-+
X3+ 3T x
K43k +

Question ID

Option 2 ID
Option 3 ID
Option 4 ID

Status

194891111984
Option 11D :
: 94891147934
: 94891147935
: 94891147933
: Answered

Chosen Option :

94891147936

2




Q99 iy “affmm # iEUr, EREOT P G, T F Fear” AR “Seaw F AT g7 0 B, A g
g o & B &7

Ans xl EF-Q'UT
v 2 3T
Xaqﬂé‘
X 4 ofdas

Question ID : 94891111978
Option 1 1D : 94891147912
Option 2 ID : 94891147911
Option 3 ID : 94891147909
Option 4 ID : 94891147910
Status : Answered
Chosen Option: 1

Q.100 Consider the given statement and decide which of the given assumptions is/are implicit in the
statement.

Statement:

Training involving real classroom experiences must be given to all pre-service teachers to make
them skilled and effective in the classroom.

Assumptions:

I. Real classroom experience is an essential component of a teacher’s training.
II. A person cannot be a skilled and effective teacher without training.

Ans X 1. Neither assumption I nor II is implicit.

+ 2. Only assumption I is implicit.
/< 3. Both assumptions I and II are implicit.

7< 4. Only assumption IT is implicit.

Question ID : 94891111981
Option 11D : 94891147924
Option 2 ID : 94891147921
Option 3 ID : 94891147923
Option 4 1D : 94891147922
Status : Answered
Chosen Option : 2
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